5060.8
5060.8

goooooon

oooooo | PMLCO0927W2S
0o LED2700 70 1970 x1 1970.0 I n
0000 K0178470 (0) DY 1
oooao Bz1
0o 80 % 70 % 50 % 30% 0 %
0ooo 100 % |0
0o |7ol50]30]10f70]50]30f10]70]50[30]10]70]50]30]10]00%
oooo 3% [U]p 10 % 10 % 10 % 10% |o%
ooon 97 % |pno 000 ( X0.01) ZCM
1 0.69 0.6 [s2|75|71|68|81|75|71|68|79|74|70|l68|78|73|70|68]|686
000 0 o0 67 0.8 |ssl|s2|78|75|87|s1|77|75|85|s0|77|74|83|79|76|74|72
0 4y 6a 1.0 |91]ss6|s2]|79]|90]|ss]|s2|79|s8|s4als1|78|s6|s3|s0|78]|76
' —1.25]|94|90|86|83]93|s9|s6]|s3|o1|s7|s4]|82|s9]|s6]|s3]|81|79
nooond DDZ 1.5 |97]92]|s9]|s6|os|o1]|ss]|selos|ools7|ss|o1|ss|se|s4]s2
0ooooo 00 2.0 |o9|oelo3lo1|los]|os|a2|90]|os5|93]|o1]|s9|o3]o1]|sa|s7]ss
0o 0000000 2.5 hooslos|oshooo7|os|oz|o7|os|o3|or|os|os|or|onls7
00 |oooooo |oooooo 3.0 hodoglo7losholos|oslas|os|oeloaloz|aeloslas]|at]|so
1.5 0.46 7 ]o0.92 |4.0 horothodosphooofoolo7|oolos|lo7|os|a7|os]las]|os]ot
2 0.58 0.97 5.0 hodroshothootoshothoofoohooooloslo7|osla7]|oe|as|a2
2.5] 0.7 1.04 7.0 hoshodiodhoiodhostozhothothoooologlooloslo7|a7]es
3 0.81 1.12 10.0hodtoshospodioshosdrodiodiodohothooooloofos]os]os
140°
D D EV_V_\V_\V_\FTV_V_\ 8 fe X 100
- 0 0 O B ~
0AaONDAd00Yy quUupuoguup oy O
4
0° 120° 5
H=[1.15
/
I"// H=b
H-or —__—
1 by
\ i =
oloo alae W ——T [}
J|U °Y /,
H=4
H=b5
/
I 1
1 1
(]
1 ]
\ 1
\VW/
/]
w laY
= r4
N
A B
. . ) :

INIRINERINERINERINE



